2017 (A) A

(o U8 ) - Sfeloc it
ECONOMICS PAPER-II by 24 b
TIME ALLOWED: 2.30 Hours SUBJECTIVE 2Pl 20230 = &

MAXIMUM MARKS: 80

80

NOTE: - Write same question number ..;-E;;:lﬁ;.{girfﬂgg Z-,JJ/-,%ZJ:I/:UI:’&:{QB’QIK

and its part number in answer book, as given in the question paper.

2. Attempt any eight parts.

SECTION-l Jsl.o
16=2x8

Ly
o

Eferlindie 8 240y

() Whatis meant by Personal Income? S e T
(i) Define Depreciation Allowance. NS AL TNLD.
(i) What is Disposable Personal Income? T Jﬂy’g}ATf‘_ﬁﬂ"Jﬁ
(iv) Define Inconvertible Paper Money. gk S /U: ISEE Ju ,-_-f
(v) What is meant by Bearer Cheque? Sl U
(vi) What is Token Money? Ve bl 1k
(vii) What is Modaraba? fe LA
(viii) Define Monetary Policy. S ,;'JJ:’ P

(ix) Whatis Open Market Operation?

(x) What is meant by Private Finance?

(xi) Write four important heads of Public Expenditure.
(xii) What are Regressive Taxes?
3. Attempt any eight parts. 16=2x8

()  Write any two advantages of Globalization.

(i) Write any two advantages of International Trade.

(iv) Which are two major sectors of Pakistan's Economy?

(v) Which Crops are included in Kharif?

(vi) What is meant by Small and Medium Enterprises?

(vii) In how many ways the statistics of ocl
National Income in Pakistan are presented?

(vii) Write any two difficulties of Pakistan's National

Income measurement,

(ix) Define Per Capita Income. -L{/:-é.’f'i«f L}-*TL/ d
(x) What is meant by Increase in Real National Output? fe ple 3 IR shae 5&?
(xi) Write any two problems of Developing Economy. «.L{)},;Jlmr:-éfﬂc-é??%éﬁ
(xii) Define Economic Planning. - f—a’fJ Yz LF" b

{ ii JJ.')

L r:fuLfJ’b’;L:g._,.“f

el e

7 T X
LAy (i)

- fe el e df 3 )y
e iine YL Pk
(i)  What is the purpose of establishment of World Trade Organization? t;_.wi*l_f b’r?&;ﬂﬁ&;lﬁs) k
U2 e L 2 A1t
e pie unl eS|
St G JEU st s

S e UP e nilend %
S L e L AT L $uTS Rt ]

Sy fr s St A JJJTL;;JUUJ’E
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(2)

Q.No.4 Attempt any nine parts. 18=2x9 Efe 2l a4y
(i)  Whatis meant by Dry dock? el e BB ()
(i)  Write four steps to improve Pakistan Railway. -;,_’ﬂ:.,Llju?d. L.L[:—.ﬁ‘:il.bul:fE (ii)
(i) What is Zari Taraqati Bank Limited? S VAL A0HEs (i)
(iv) Whatis meant by E-Commerce. Sl e st (iv)
(v) What does Demand pull inflation mean? S bl Dbl AN (5 Ef)il,:ﬁ.,ib (v)
(vi) Write down four sources of Revenue of __ddc’:u&;?é&ﬁ;fyﬁél,m!gﬂg (vi)

Pakistan's Provincial Government.
(vi) Write down four heads of expenditures of id.‘.’{‘:rfiukrdn::‘f"j’c‘:;f}gdﬁjﬁjh (vii)
our Federal Government.
(viii) What is Gift Tax? fe e e (i
(ix) Write the names of four member countries of ECO. -u:’f‘t.{:..ﬁ Lx'/.f.alf.{: (ECO) ﬂ-E' —d’usb";f b (ix)
(x) Write four functions of World Trade Organization(WTOQ). U=/ bl (WTO) F7e0Th s (x)
(xi) What is meant by Interest (AL-Riba) in el Ve s P B gl (xi)
Islamic Economic System?
(xil) Write four traits of Islamic Economic System. el SrESbg (i)
(xiii) What is the basic Philosophy of life of Islamic Economic System? ‘< Vel :a,Ji‘e’.-:.i‘a.?’:rl&id el (xiii)
SECTION-II (a.<

NOTE: - Attempt any three questions. 30=10x3  -Z A=zl il o)
5.  What is meant by Barter System? dg’f_zf.-:flﬁ‘:-d’;'ﬁ?i_l:[_.‘:wbgu ‘-'.:.'..:l/'l_._f:..(*".’r’;l_. =5

Describe the difficulties of direct Barter System.

6. How Commercial Banks create Credit Money? Frealn LT )J@Ef&;@w,@{;,g -6

Explain.
7. Describe Canons of Taxation given by Adam Smith. --’Q.E;LJ:‘1£.L.)3’I;J€L£LE£ #pT 7
8. Describe the importance of means of Communication -.f£ ugcﬂilJvaﬁ;}n;Esraﬁﬂf{fbj -8

and Means of transportation.

9.  Explain the causes of disequilibrium in Sk 2SI UL L -9

Balance of Payment of Pakistan.
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The choice which you think is correct, il that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will resuit in Zero mark in that question, Attempt as
many questions as given in objective type question paper and leave others blank. No credit wii| be awarded
En ﬁas? BUBBLES are not filled. Do not solve question on this sheet of OEJﬁdTWE PAPER.
.No.
(1) National income is in equilibrium at level where:-

r -pm T P T
e o | r,',;ﬁj:,#vf##i?r,};fgu._,Cuj}-;.-_.g_._rﬁlr-.
1

o --'E..'._.-g.r,_,rz“;-_‘dr;':.;-:r'd;

-
type question as A, B, CandD. ..,,_'zi,"'}};a-ﬂfr{,f.;.,"r

-1 ;1;i_..1'r
- J:r:& }';’J\:F.. TJE (1
(A} Total expenditure = Investment Vizls = 3AF L (B) Total expenditure = Saving =f = 3 4 ¥ .
”@Rggrﬁgale demand = Aggregate supply as(fe = i ational income = Totg Expenditure 37 F = Jafd?
(2) Formula of Marginal Propensity to Save (MPS) is-.

S IRE T (g
(A) MPS = i-.

5 AS
Mpes = 2 MPS =
(B) 5= ©) a¥

if quantity of money e Ubnisd (s bl Wi e
(A) Increased 1, (B) Decreased # (g Equal 1,
a function of -

(B) Price ¥=J

AC
MPE = -
{B} AY

{3) According to Quantity Theory of Money,

18 doubled the valye of money is--

{4} Speculative demand for money jg

{A) Income f.,:'-.«?

——_ Creates credit money

Commercial bank 5,7

(6) The base of Interest Free Banking system is:-
(A) Profit 2

(B) Loss o @Pruﬁt and loss i
(7) First of all Canons of Taxation were presented by:- 5

B)Adam Smith L 277 (B) Alfred Marshal LS (O Ricardo 5
8) _ budget is better ~ b A . (8) -
(A)Surplus ._f""ii (B) Deficit &3 (C) Eala*nced Chle A (D) Defence i
(8) The policy to protect Home industries from +.5+d1_t.i: &« S i st Ezg.i;g‘n;..e:—dfé,-:uﬁ“ﬁ
Foreign competition is called:- (A) Commercial policy G (B) Fiscal policy u”}fi'r"-
C) Protection policy ;;-":#J,_-,'::' D) Munetaqrpoﬁcy .;FE.-_LJ ~ _
{10) The cause of low per capita income in Pakistan is - Dver Population (71 ..rl;.._-st'_::;‘ U -’;,f'f.-}.,':,_-,u.'-r"':
(B) Geographical conditions .:.u:-d?*ﬁ (C) Lack of mountains u‘:;u:}s,-; (D) Lack of water v{;v';
{11} Per capita income i equal lo:- (A) Total National Income u';;-,'-’ f..,f'
Total Consumptian TArY
{B))Total National Income J.ﬂ;‘ f,f: (c) Total National Income Jﬁu'ﬂf
Total Population JabTp Total Manpower Az K
(12} Central exise duty is imposed on:-
(A) Agricultural products Llacidsi
—_ Is included in modern means
Motorway .,

J‘J.u::ﬁ.h;'f/;: f3.:|
O)Half _is .
—— h-‘hii‘:‘l"?'bi.-é‘i;:; {4)

Lr (D) Investment &5,
(3}

Inlerest rate ¥4
(A) Central bank &4/ -t (s
(C) Saving bank &< (D) Cooperative bank 5 5
S I T A (6)
(D) Interest

F ]
| = i -
-.’-_\,E-’_‘_'::.-‘—f_,r"r.'....g.,‘*‘av

- (7)
(D) Keynes

(9)

(10)

-

e - ]
--L-QJV‘J.E'V"U (11)
:

{D) Total National Income .| ALK

(L2

Total youth in country iz K 7_;

_ - Uyt (N 3.'»,:;:::-"3 (12)
@nﬂustﬂa! products .;mf.:;;f"' {C) Imports =il (D) Exports ;=17
(13) of ransportation in Pakistan.

) S CEUR Ml F P
(B) Boating .,jb,,fy

Pt (13}
(C) Pakistan raitway <%x%] (D) Roads .
(14) Television was started in Pakistan in- -foiuz;%.«-‘f;:;-a i {14)
(A) & 1960 (B) & .1962 @© o 1984 (D) ¢ .1566 )
(15) Head Office of Agricultural Development Bank of Pakistan is in .

(A) Islamabag WErtei! (B) Lahore Koty

- ;-':wr.,gd-;.m;y;ﬁ (15)
(C) Peshawar Laly (D) Karaehi ...»‘.‘u_:J:"
(18) The main source of Pakistan's government revenue js-- ~ — AN L..L"ufu.:fl-'-"m-*'ﬁ (16)
{A) Aid g (B) Fines i, @Taxes o . '
(17) In Pakistan, Federai bud

(D) Fee 2
getis presented in the National Assembty by:-
44« (B) Prime Minister

bR F i e
Leis inance Minister 72 (D) Trade Minister Sl i
& r = =
its currency by 131 9 in.. O 1319 mguﬂgr.}_dw; (18)
(8) 2 1970 ©) = 1972 (D) 2 1974

{A) Presiden
(18) Pakistan devalued

{A) £ .1988

GoRl )

19}

i is the friend of Allgh Almighty.
{Al)Labourer A

20) Islam does not permit:-

A Monopaly J‘u’;'u,-l,-' (B) Perfact competition

~FEreniidn  (1g)
(B) Capitalist -L‘:.L_;

(C) Entrepreneyr ISP ¥ (D) Trade 2t

) ; ) -G '-::-.-'fj.‘-;i"" (20)
OB’ (C) Charity (s (D) Sadagat (.- 5.~
38(0bj)(7)
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£ 3D s C B ARl ey -2

Q.No.1 It 4 A Ar

{1) The base of Interest Free Banking system is:- -...LJ?L;JJ{':A,E'E}J ik (1)
(A) Profit (‘,'," (B) Loss gl @mﬁt and loss ._JI..-HJ-_; (D) Interest s+

(2) First of all Canons of Taxation were presented by~ LS e AL fi whF @

AJAdam Smith L 27 (B) Alfred Marshal i A}# (C) Ricardo :bé; (D) Keynes /

(3) ____ budget is better. i T (3)
@Surpfus S (B) Deficit b—.L° (C) Balanced w.l# (D) Defence S

(4) The policy to protect Home industries from -;.dd/ fc.dbd.ll.ﬁl‘_f") uf{'_;.:.Lr.:_Jh»fer"‘(ﬂ’ (4)

Foreign competition is called:- (A) Commercial policy y*,d47  (8) Fiscal policy &= Jih

@Pmtectlon policy fow..r (D) Monetary policy (=LJ.

(5) The cause of low per capita income in Pakistan is:- @Dver population (4 Tk -c_.m,}:..rrf‘ da v’( J..«- u'it"- (5)
(B) Geographical conditions ..-..mrél..i 142 (C}) Lack of mountains JJ'._J: & (D) Lack of water ;,...,} gl. 1
(6) Per capita income is equal to:- (A) Total Naticnal Income J.uu’ ﬁf ~-.-Jsu~ul,/’ i) (8)
Total Consumption uﬁdﬂ.)’

Total National Income (4745, Total National Income (4784 Total National Income (4.7
(B AT (C)
L1®,

Total Population Total Manpower .:;-f..-..;ur.f © Total youth in country u'.r’:'Ju--..ﬁ
(7) Central exise duty is imposed on:- - dn l;g;:/lff..:/m-uwi (7)
(A) Agricultural products /JIJFJ;JJJ @lndusmal products /ﬂ:lk,u"‘ (C) Imports = Lin (D) Exports _.;....utc
(8) _____isincluded in modern means of transponatmn in Pakistan. -._J..-l,,ﬂg_ﬁl )J-.mf:f fvn‘.;lbfi (8)
@) WMotorway «.r  (B)Boating Jui”  (C) Pakistan railway « .=} (D) Roads 7
(9) Television was started in Pakistan in:- -Jﬂ'x'ddndfu:uﬁl- (9)
(A) £ #1960 (B) o~ +1962 @,C +1964 (D) & 1966
(10) Head Office of Agricultural Development Bank of Pakistan is in:- -‘;_.;J}.-ﬂf..ééy"iﬁu;;:cf L (10)
@Islamab&d UCJI,.Trqu (B) Lahore (Ll (C) Peshawar sl (D) I'{sraciji bi‘:_i;rf
{(11) The main source of Pakistan's government revenue is:- . e Pk J_JTJ;;;WE.:./F {11)
(A)AId sial (B) Fines &tz Oraxes S (D) Fee 2
(12) In Pakistan, Federal budget is presented in the National Assembly by:- - r/u_,vu.'d"' i du:uCuLJL {12)
(A) President .+ (B)Prime Minister (ylm OFmanoe Minister =i7/)s (D) Trade Minister =Mz is
(13) Pakistan devalued its currency by 131 % in:- -u’f 131 % :.uugffilgu':-ﬁ (13)
{A) L& »1968 (B) o~ »1970 @L: #1972 (D) < 1974
(14) ____isthe friend of Allah Almighty. ~ebreenkBH (14)
@Labourer P (B) Capitalist /5.4 (C) Entrepreneur L. (D) Trade At
(15) Islam does not permit:- -E:Jugwryf (15)
Mﬂnnpolyr :fd.-huhr (B) Perfect competition J&..Lvu‘* (C) Charity J...-Lc" (D) Sadagat d_,FM
(16) National income is in equilibrium at level where:- ...'_;Jmf; da qu ey ] (16)

(A) Total expenditure = Investment ($/6L = 8iF (B) Total expenditure = Saving =% = I
C)Aggregate demand = Aggregate supply s = ¥+ (D) National income = Total Expenditure &) = J.147

(17 Formula of Marginal Propensity to Save (MPS) is:- - Urubbes qul:'?""' (17)
5 AC s AS
(A) = (8) / 7 (C) MPS = = @ mp. AY

(18) According to Quantity Theory of Money, if quantity of money -e:.dlm_a.d.{uff_tru/" vﬂ:ﬂ:ﬁm)’u.-_u&qw,ﬂ (18)
is doubled the value of money is.- (A) Increased wLJ (B) Decreased rF (C) Equal .. @Half -

(19) Speculative demand for money is a function of - o JL«MJ:} (19)
(A) Income ¥4 (B) Price §=d @Interest rate Krl/ (D) investment §E1 -

(20) creates credit money, (A) Central bank &%, < rfﬁﬁ@w (20)
Ommmarcaal bank .L'-L:-.rl.r (C) Saving bank .x’;e,:.;i (D) Cooperative banh ...E- isbr
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R o OBJECTIVE (%~ 0= Jf

Q.No.1 - = ) =1 7 U
(1) Per capita income is equal to:- (A) Total National Income d._«".l_a'f i -?J:La-d.ﬁ._/& (1)
Total Consumption &/~ _
(@)letal National Income (34754} (c) Total National Income [ﬁﬁgg%g () Total National Income 77}
Total Population ST Total Manpower — =f=a? Total youth in country oz el
(2) Central exise duty is imposed on:- ISPt ()
(A) Agricultural products L Si @Indusirial products {.-hi.:.;fs‘w (C) Imports ,=uTs (D) Exports _;..-..F.J,:
(3) ____isincluded in modern means of transportation in Pakistan. - u:?feeiﬁfuiwuf L (3)
@Mmomay </  (B) Boating JbJ’/ (C) Pakistan railway ;E;mﬂ. (D) Roads Ll
(4) Television was started in Pakistan in:- J::J.;.‘—.IJ.;,J}:;E;,&.‘;;G—" ‘ (4)
(A) & 11960 (B) & +1962 @J 1964 (D) & /1966
(5) Head Office of Agricultural Development Bank of Pakistan is in-- g ;Jjgyh’édg?}d;;uﬁ (5)
A))islamabad Z\Tu-t (B) Lahore (.t (C) Peshawar 2, (D) Karachi 231/
(6) The main source of Pakistan's government revenue is:- -F-.f)jizr;;fl—dll.'}w’ &.:.-fﬁ (6)
(&) Aid sl (B) Fines i\ @Taxas ._{f (D) Fee <
(7) In Pakistan, Federal budget is presented in the National Assembly by:- - ':)LB._;:UI'-J'-LFF.#.JEJL;JL:@ (7
(A) President .+# (B) Prime Minister r"’lgj.- @Finance Minister =Z.Js (D) Trade Minister =.i5Js
(8) Pakistan devalued its currency by 131 % in- S 131% MWLy (8
(A) & +1968 (8) 2 1970 @L: 1972 (D) & +1974
(9) ___ is the friend of Allah Almighty. R IONSTI A [P] (9)
Labourer s (B) Capitalist .1~  (C) Entrepreneur Ak (D) Trade .2t
(10) Islam does not permit:- ..E.r.-,,“:-';:...?i;ir'llf‘i (10)
Mﬂnupcll}r Jd.:f.'lui?' (B) Perfect competition J‘.‘_:.L?-J; (C) Charity J_-.,I,E {D) Sadagat J’;,E,.-*
(11) National income is in equilibrium at level where:- -{-éﬂf&ﬂfﬂjﬂd (1)

(A) Total expenditure = Investment iy il = Epﬁ-f (B) Tolal expenditure = Saving =% = ;’;J'Lf

¥

Aggregate demand = Aggregate supply s = ¥ (D) National income = Total Expenditure &3 = J.iy7

(12) Formula of Marginal Propensity to Save (MPS) is:- - ribei?  (12)
c AC i AS
() MPS = = (B) MPS = (©) MPS = 2 MPS = =
(13) According to Quantity Theory of Money, if quantity of money -{.thu,«};ﬁ;}a.?l_.:fw' 5!3};?&}1:,:J$J;rﬁﬂ5 {13)
is doubled the value of money isi- (A) Increased wi (B) Decreased rf (C) Equal .l Half _is
(14) Speculative demand for money is a function of - - ,_J'u_,-l-v":{u (14)
(A) Income ¥ 4T (B) Price ¥=d @Interesi rate ¥ - (D) Investment ¥f.&.1
(15) creates credit money. (A) Central bank &f7/- -q—rfwﬁa’d}?' (15)
B) Commercial bank £\ (C) Saving bank & (D) Cooperative bank s
(16) The base of Interest Free Banking system is-- ) ~eiddarre  (16)
(A) Profit (B) Loss il @Pmﬁt and loss i (D) Interest 5
(17)_First of all Canons of Taxation were presented by:- -aCj?J;.; :..,-'dr‘ff-é-f:-'lwf (17)
Adam Smith & 2T (8) Alfred Marshal & 434 (C) Ricardo »5/6, (D) Keynes 5~
(18) _____ budget is better. Ay (18)
@Surpius W (B) Deficit ¥ .l (C) Balanced (15 (D) Defence ({6
(18) The policy to protect Home industries from -0 e Oelnstiad Liwe defiimf g
Foreign competition is called:- (A) Commercial policy Jﬁti.d;tf (B) Fiscal policy | —I;J_L:JL
| (© Protection poiicy * (et (D) Monetary policy (%45, 5

(20) The cause of low per capita income in Pakistan is- @Dver population (s Tpt ...L-;-:L(fo‘ja?u}igﬂdpi (20)
{B) Geographical conditions =UbgU®2  (C) Lack of rmountains dJu:}l@ (D) Lack of water |
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Q.No.1 e A Ay

(1) The main source of Pakistan's government revenue is:- ’ 7 --;-,fzilkfd-_-ﬁd’d?’&#; (1)
(A) Aid Aal (B) Fines 2.2 @Taxes ,-"g (D) Fee < g

(2) In Pakistan, Federal budget is presented in the National Assembly by:- - r.r'L?*;,.r.‘.J-’ rj;.;-f Lini;,_;ul::fl. (2)
{A) President .. (B) Prime Minister (Di_;;‘: @Finam& Minister .'-f;im {D) Trade Minister <.

(3} Pakistan devalued its currency by 131 % in:- H’ 131 % mf;fqura_.ucfl.' (3)
(A) & +1968 (B) £ 1970 @ L1972 (D) & +1974

(4) _____is the friend of Allah Almighty, & Ertanb i (4)
@Labnurer mp (B) Capitalist &\ (C) Entrepreneur o6 (D) Trade 2t

(5) Islam does not permit:- ) ur;;u:l'_,wrwl (5)
@)fl.l'lv:nni:rr.ucnlj.r Jd.abuigi (B) Perfect competition .,,:Q;.ﬂ:;-uu (C) Charity 4.: 2 (D) Sadagat ¢

(6) National income is in equilibrium at level where:- -:;.grf:uﬁm Jais s (6)

(A) Total expenditure = Investment (6L, = 57F  (B) Total expenditure = Saving ot = piS
Aggregate demand = Aggregate supply .wdr" ....J#Jr (D) National income = Total Expenditure Er,.?f J,ruf
(7) Formula of Marginal Propensity to Save (MPS) is:- P 2 e

c AC S AS
A) MPS == B) MPS = 25 C) MPS == MPS = 22
(A) - (8) 5 (C) 5 (®) 7

(8) According to Quantity Theory of Money, if guantity of money -Ldbmﬁ&.rf...wf L.J"m.a,fl..-»f c.,m,(u.ri.w_ ,5' (8)
~is doubled the value of money is:- (A) Increased vt (B) Decreased f (C) Equal . (D) Half —is

(9) Speculative demand for money is a function of-- -f.Ju:Jg‘:‘fL; (9)
(A) Income ¥(.T (B) Price ¥=-d Q Interest rate #5» ,/ (D) Investment 5624~

(10) creates credit money. (A) Central bank &/, --—--fuf"';';-fdz'v" (10)
(B) Commercial bank &7 (C) Saving bank &=i (D) Cooperative bank & s\

(11) The base of Interast Free Banking system is:- -,-_JLLJJJE.-;*W:E& (11)
(A) Profit & (B) Loss i O Profit and loss LJLA-’:C’;” (D) Interest s+ _

(12) First of all Canons of Taxation were presented by:- Lk .-_..,.fd.r*i[.:..{s hJ"’ (12)
Oﬂdam Smith L #~T (B) Alfred Marshal L) m/’i (C) Ricardo 15, (D) Keynes ,u:’

{(13) ____ budget is better. Al _  (13)
@ Surplus (B) Deficit ke L3 (C) Balanced /15 (D) Defence (§s

(14) The policy to protect Home industries from -:..ddsf q_dbd’ Larld” lf-;_ii..tf’a..lhﬁfffu:""da’ (14)

Foreign competition is called:- (A} Commercial policy JJ LJA.f (B) Fiscal policy -LuJL

@ Protection policy o‘-‘-’l.J;;::r (D) Monetary policy L.

(15) The cause of low per capita income in Pakistan is:- @ Over population ($L7j1/1 -ae’ue_rr JRAd dLol (15
(B) Geographical conditions = byl  (C) Lack of mountains JJWL,; (D) Lack of water (f({ (it
(16) Per capita income is equal to:- (A) Total National Income Q Ay *._aswd.«lu" g (18)
Total Consumption 303 ~F

OToI:al National Income :,};Tdf.)' ¢ Total National Income AAREY, (D) Total National income ARED,

.. Total Population Lk Totai Manpower ..J.__JJ Tolal youth in | country uw.,(;:...ﬁ
(17) Central exise duty is imposed on:- -::_dr.a l.:d,g:.rl..ffd.f/;,.uu—ﬁ. (17)
(A) Agricultural products .f.iljf.ﬁd.u @rndustrml products .ul;u-u" (C) Imports ;= s (D) Exports s=ls T

(18) _____isincluded in modern means of transportation in Pakistan. -;Jb&uﬂﬁ;ﬁdﬂdﬁiuﬂ L (18)
@Mutomay <  (B)Boating ;j!;d'{ (C) Pakistan railway 4_,{'4.1!;*'1 (D) Roads L/{ ”

(19) Television was started in Pakistan in:- -d.-r!.»—llfuni'ﬂurﬂ (19)
(A) £ +1960 (B) £ +1962 © o /1984 (D) o~ #1966

(20) Head Office of Agricultural Development Bank of Pakistan is in:- - Pk BdUiSigel  (20)
A) Islamabad L,.rfﬂ_.f,v*u-l (B) Lahore 2.l (C) Peshawar 2.l (D) Karachi JJ,Lf
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